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of 2t 100.0 67.6 324
TEJLR 100.0 39.0 61.0
2eoip 100.0 304 69.6
7|E 100.0 21.7 783
65-69A 100.0 22.6 77.4
70-744 100.0 30.8 69.2
75-79A 100.0 15.3 84.7
80-84A 100.0 44.0 56.0
85| 0|4t 100.0 54.8 452
2Zo|5t 100.0 277 723
zz 100.0 43.0 57.0
DZo|4 100.0 30.4 69.6




[=)
15. 8% 9
(2] © %)
A 79| oY 20]| 3~43] Z=0j| 1~23] 1o 1~28]
2014 8.3 1.3 85 2.1
2017
S 6.7 39 6.6 2.1
219 A 7.2 34 6.5 34
2|9 B 6.3 43 6.7 1.1
=2t 16.7 8.0 12.4 2.4
O]z} 0.7 15 3.1 1.9
=7t 3.7 1.9 52 2.1
22It+ 8.2 4.6 6.6 2.9
7|Et 8.4 5.4 8.1 1.2
65-69A 9.0 5.3 13.2 2.6
70-74M| 8.8 5.4 8.9 3.7
75-79M| 6.5 35 43 1.9
80-84A| 6.2 3.1 48 1.2
85A 0|4 3.2 2.7 33 1.1
2ZZ0|5t 5.4 34 5.3 1.9
== 17.3 8.7 14.3 3.0
E04 14.6 5.1 24.4 45
15-1. H#
(G2l 2
ot 2| AF Y= 7|Ef
2017
ol 3.0 4.0 1.5 2.4
A9 A 29 3.4 1.7 8.0
2|4 B 3.1 4.6 3 1.0
=2t 4.8 4.6 Vi 1.0
Of 2} 1.6 2.0 2.8
Ch=Dt 1.8 3.5 4 1.0
28217 3.6 3.6 9 3.0
7|} 35 48 1 -
65-69A 3.9 5.5 1.7 8.0
70-74M| 2.4 41 1.7 1.0
75-79M| 4.6 3.5 1.0 1.0
80-84AM| 3.0 3.0 1.3 -
85A| Of4t 1.0 2.5 1.0 -
ZZ0|st 3.1 3.9 1.5 2.4
= 3.2 45 1.8 -
0|4 2.1 3.4 1.5 -




16, 2714 o|£4l
(SH2] %)
o | 018 EERE] =
3‘:’|'7-‘” 2 OI|: A71| —‘y_s‘a_or il‘ll,ZlE_ %H:H'ZIE O:IIHI»Z-I_% ZH%MZ‘"%‘AL Z"‘?é: Eaﬂ% Dil 7|E|- 2 O‘Il:
A - s e Eer TS| HzmEm s | osrt | mzaw i
Yk 5)
2017
ol 100.0 69.8 100.0 52.2 1.8 3.6 34.6 6.7 0.3 0.6 0.2 30.2
2e A 100.0 78.2 100.0 49.1 2.7 49 315 10.1 0.4 08| 04 21.8
2| B 100.0 62.9 100.0 55.2 0.8 2.3 37.8 3.4 0.1 0.4 - 37.1
E: 100.0 68.1 100.0 46.6 3.3 1.5 39.6 7.2 0.1 1.3 0.6 31.9
O Rt 100.0 70.8 100.0 554 0.9 49 31.8 6.5 0.4 0.2 - 292
Ch=Eot7 100.0 69.6 100.0 56.0 1.5 53 31.8 4.6 0.2 0.6 - 30.4
227 100.0 70.1 100.0 53.9 1.5 3.4 33.4 6.8 0.6 0.5 - 299
7|E} 100.0 69.6 100.0 459 2.5 2.1 391 9.0 - 0.7 0.7 30.4
65-69AM| 100.0 62.4 100.0 36.6 2.5 1.3 455 11.0 0.5 2.6 - 37.6
70-74M| 100.0 75.4 100.0 53.2 2.0 2.8 31.0 8.3 0.8 1.0 0.9 24.6
75-794 100.0 69.2 100.0 52.6 2. 4.4 36.4 4.5 - - - 30.8
80-84AM| 100.0 74.5 100.0 56.8 1.5 45 30.2 6.8 - - 25.5
85k
O|A11 100.0 65.7 100.0 57.3 0.8 4.4 333 4.2 - - 34.3
zZZE0|5} 100.0 70.8 100.0 53.2 1.8 4.0 33.9 6.2 0.3 0.4 0.2 29.2
=2 100.0 64.0 100.0 432 1.3 38.9 13.3 0.3 3.2 - 36.0
NE0|4 100.0 55.9 100.0 43.1 2.3 - 50.5 3.2 - 0.9 - 44 1
16-1. B4 MHU|A(A]Y) 2HF
(B2l : %)
A 45 HE 20z
o< H| WA H| WA of<
2017
L= 100.0 89.2 292 60.0 9.9 09 0.9 -
2% A 100.0 90.0 286 61.4 93 0.7 0.7 -
2% B 100.0 88.4 29.8 58.6 10.6 11 11 -
L2t 100.0 86.5 254 61.1 1.6 19 19 -
01zt 100.0 90.8 314 59.4 8.9 03 03 -
CHE7p 100.0 91.6 35.0 56.5 76 0.9 0.9 -
CE b 100.0 90.1 26.8 63.4 8.8 11 11 -
7|Et 100.0 855 256 59.9 13.8 06 0.6 -
65-694] 100.0 92.0 25.0 66.9 76 0.4 0.4 -
70-74M 100.0 86.0 213 64.7 13.4 07 0.7 -
75-794 100.0 913 33.1 58.2 6.9 19 19 -
80-844] 100.0 90.6 34.0 56.6 8.8 06 0.6 -
85A| OfAt 100.0 86.8 319 54.9 12.8 0.4 0.4 -
2Z0|5} 100.0 88.9 304 58.6 10.2 038 0.8 -
2= 100.0 93.6 19.0 746 5.1 14 14 -
DE0|4 100.0 83.9 19.9 64.0 16.1 - - -




V.20178 ol =2l

A
=

EHZAF Z2 1t

16-2, B7A MHA(RE) o

X

A 2= =) ) 2E == R =)

2017
=L 100.0 57.4 16.3 411 284 14.2 13.7 0.6
2% A 100.0 55.7 10.6 45.1 29.8 14.5 14.3 0.2
A% B 100.0 59.0 22.0 37.0 27.0 14.0 13.1 0.9
gt 100.0 64.0 18.4 45.6 27.4 8.6 8.6 -
o2} 100.0 53.5 15.1 38.5 29.0 17.5 16.6 0.9
e 100.0 53.3 16.5 36.8 28.1 18.6 17.2 1.3
HE7IR 100.0 58.1 148 433 28.3 136 133 0.3
7|Et 100.0 60.9 17.7 43.2 28.9 10.3 10.3 -

65-69A| 100.0 71.6 20.0 51.7 234 5.0 5.0
70-74AM| 100.0 56.0 13.2 42.8 34.2 9.8 9.8 -
75-79AM| 100.0 57.8 18.9 38.9 29.6 12.6 12.2 0.5
80-84M| 100.0 55.8 16.6 39.2 29.1 15.1 15.1 -
85A| 014 100.0 48.9 13.4 354 22.8 28.4 25.9 2.5
ZZ0|5t 100.0 56.2 16.2 40.0 28.7 15.1 14.6 0.5
== 100.0 64.0 16.2 47.8 29.9 6.0 4.7 1.3
2014 100.0 80.8 19.4 61.4 9.7 9.5 9.5 -
16-3. HZA MH|A Ot
© %)
5t =3 £ =2

2017
ol 100.0 87.8 31.3 56.6 11.3 0.8 0.6 0.2
AY A 100.0 88.0 294 58.5 10.4 1.7 1.2 0.5
A% B 100.0 87.7 33.1 54.6 12.3 - - -
At 100.0 84.8 29.8 55.0 13.7 1.4 0.8 0.6
o2t 100.0 89.6 32.1 57.5 9.9 0.5 0.5 -
S=oh 100.0 89.6 30.8 58.8 9.9 0.5 0.5 -
S8 100.0 86.2 30.0 56.2 13.1 0.7 0.6 0.1
7|EL 100.0 87.9 333 54.6 10.8 1.4 0.7 0.7
65-69A| 100.0 87.9 349 53.0 10.5 1.6 - 1.6
70-74M| 100.0 85.1 243 60.8 13.7 1.2 1.2 -
75-79M| 100.0 88.5 33.0 55.5 11.2 0.3 0.3 -
80-84M| 100.0 90.8 33.7 57.1 8.4 0.9 0.9 -
85M Ol& 100.0 87.0 32.1 54.9 12.5 0.5 0.5 -
2Z0|5t 100.0 88.8 31.6 57.2 10.7 0.5 0.5 -
= 100.0 83.4 31.7 51.7 12.0 4.7 1.8 2.8
e 100.0 66.5 17.9 48.6 33.5 - - -




[ =] =3
16-4, B7A MH|A(HMEZ o2 Ql3) BIZE
(Sl @ %)
St [n] =3 = S0z
2017
=L na 100.0 72.0 18.3 53.7 23.0 5.0 49 0.1
A9 A 100.0 66.4 13.6 52.9 24.8 8.8 8.5 0.3
A9 B 100.0 77.5 23.1 54.4 21.2 1.2 1.2 -
=y 100.0 63.0 17.3 45.7 29.0 8.0 7.7 0.4
o2t 100.0 77.2 18.9 58.2 19.5 3.3 3.3 -
C=ot 100.0 76.7 18.8 57.9 21.4 1.9 1.5 0.4
e 100.0 68.3 16.4 51.9 243 7.5 7.5 -
7|E} 100.0 71.2 20.2 51.0 23.2 5.6 5.6 -
65-69M| 100.0 69.0 21.5 47.4 22.8 8.2 8.2 -
70-74M| 100.0 64.1 11.4 52.7 291 6.7 6.7 -
75-79HM| 100.0 71.5 15.2 56.3 24.0 4.5 3.9 0.6
80-84AM| 100.0 75.1 26.2 48.9 214 34 34 -
85M| 0|4 100.0 81.3 19.6 61.8 15.9 2.8 2.8 -
2Z0lst 100.0 73.6 18.8 54.7 22.2 4.3 4.2 0.1
2 100.0 55.1 16.4 38.7 33.4 1.5 1.5 -
1E004 100.0 70.8 5.6 65.2 17.4 11.8 8.8 3.1
o 2 =3
16-5. H7AA MHA(RIY 2H) Ol2E
(Bl : %)
St ] =3 = S0=

1:17:H —= DH—?— Hlj'-%.l Eo =C¢= H|J__||_7;‘|| DH—?—

2017
(=L 100.0 90.7 32.8 57.9 8.8 0.6 0.3 0.2
A A 100.0 92.5 30.3 62.1 6.7 0.8 0.4 04
AY B 100.0 88.8 35.2 53.6 10.9 0.3 0.3 -
A 100.0 88.2 284 59.8 10.5 1.2 0.7 0.6
O 2} 100.0 92.1 353 56.8 7.8 0.2 0.2 -
C=ot 100.0 91.3 36.6 54.7 8.4 0.3 0.3 -
F827t7 100.0 89.2 299 59.3 10.1 0.7 0.7 -
7|Et 100.0 91.6 31.9 59.7 7.7 0.7 - 0.7
65-69AM| 100.0 90.1 33.0 57.2 8.2 1.6 0.1 1.5
70-74M 100.0 88.6 22.8 65.9 10.7 0.6 0.6 -
75-79HM| 100.0 91.0 35.6 55.4 8.6 0.5 0.5 -
80-84A| 100.0 94.5 37.8 56.7 5.1 0.3 0.3 -

85|
100.0 88.7 35.6 53.1 1.3 - - -

ol
2Z0|5t 100.0 91.6 34.4 57.2 8.0 0.4 0.4 -
== 100.0 80.5 204 60.1 16.7 2.8 0.3 2.6
1DE0|4 100.0 90.4 13.7 76.7 9.6 - - -




V.20178 ol =QAEIEAF 21

16-6. HZiA AH|A(O]E A|Zl) OH=ZE

A U= 2E
B o< Bl u -

2017
iz 100.0 82.5 53.8 28.6 16.5
A A 100.0 76.6 51.2 254 21.5
A9 B 100.0 88.4 56.5 31.9 1.5
gt 100.0 80.5 54.6 25.9 17.9
o2} 100.0 83.6 534 30.2 15.7
S=It 100.0 83.1 50.2 32.9 16.3
R85 100.0 80.7 55.3 253 17.5
7|Et 100.0 83.9 56.1 27.8 155
65-69A 100.0 80.0 49.7 30.3 18.1
70-74AM| 100.0 84.2 63.0 21.2 155
75-79AM| 100.0 84.9 56.3 28.6 151
80-84M| 100.0 83.9 48.6 353 14.4

85M
| 100.0 77.4 48.5 29.0 20.6

Ol
2Z0|5t 100.0 83.0 533 29.7 16.1
== 100.0 74.8 54.6 20.2 21.9
2014 100.0 89.6 74.5 15.1 10.4

=3
16-7. BZ4A MH[A(CHZ] AZh) 2ESE

| oz HE
B o TRE °

2017
gz 100.0 79.1 29.1 50.1 19.3
A9 A 100.0 76.4 25.0 51.4 211
A9 B 100.0 81.9 33.2 48.7 17.5
=2 100.0 79.5 27.0 52.5 19.6
o2} 100.0 78.9 30.3 48.7 191
e 100.0 77.2 334 43.8 211
S8 100.0 78.9 26.2 52.7 191
7|Et 100.0 81.5 27.6 53.9 17.4
65-69A| 100.0 76.9 30.0 46.9 217
70-74A| 100.0 815 23.0 58.5 17.0
75-79AM| 100.0 83.4 31.0 52.4 16.2
80-84M| 100.0 79.7 339 459 17.4

85k
f 100.0 71.7 28.0 437 26.4

ol
2Z0|5t 100.0 79.7 29.9 49.8 18.7
CE 100.0 68.5 23.2 453 299
2014 100.0 95.9 18.3 77.6 4.1







V.20178 o2

L
ol

(0]

Al

QI &1 EN

FA

A

2
=

t

[

17. 22G(012=|3) o] S4El
(B %)
S oIC} =0| =0| 2l iCt
2017
=L e 100.0 479 100.0 46.9 229 171 12.1 1.1 52.1
A9 A 100.0 52.2 100.0 47.3 19.0 18.2 147 0.7 47.8
A9 B 100.0 44 4 100.0 46.4 26.5 15.9 9.6 1.5 55.6
2} 100.0 31.3 100.0 355 27.7 18.0 17.3 1.6 68.7
Of 2} 100.0 57.8 100.0 50.6 213 16.8 10.4 1.0 422
ChEIH 100.0 57.8 100.0 54.9 20.8 14.7 7.7 1.8 422
S8ot7 100.0 449 100.0 319 255 247 17.5 04 55.1
7|E} 100.0 40.6 100.0 53.3 22.8 10.9 12.0 0.9 594
65-69A| 100.0 26.1 100.0 32.0 32.4 17.5 16.6 1.5 73.9
70-74M| 100.0 411 100.0 454 18.4 18.8 16.8 0.5 58.9
75-79AM 100.0 58.2 100.0 448 20.5 19.6 13.8 1.3 41.8
80-84A| 100.0 55.3 100.0 48.8 24.7 18.8 7.1 0.7 447
85M0] & 100.0 53.3 100.0 549 24.0 10.1 9.3 1.7 46.7
E 100.0 50.8 100.0 46.6 233 17.6 14 1.1 492
== 100.0 23.7 100.0 51.8 17.4 9.3 18.7 2.8 76.3
DE0|4 100.0 33.2 100.0 48.4 12.6 7.0 32.1 - 66.8
=X = Fl o
17-1. Z=2Y(0(S2|®) 0|83stA| 24+ OlF
(Tl © %)
C O}&l 2t 22+0
: N et | amor| o imor | mgoy| YA FE0
A U=A| - LEOIZ} Z2 | 7IEL
Sapy oM S101M 2101 =0{M ofLzb | ororA
= 5
2014 | 100.0 0.2 8.4 21.8 8.1 0.1 245 24.8 12.1
2017
sl | 100.0 0.1 5.6 17.3 141 0.2 26.0 29.4 7.1
A9 A | 100.0 0.2 4.3 17.0 15.3 0.6 26.9 25.6 10.1
A9 B | 100.0 - 6.6 17.5 13.3 - 255 32.1 5.0
=2H ] 100.0 0.2 2.2 14.7 15.7 0.3 33.8 214 11.6
o2t | 100.0 9.0 19.8 12.6 0.2 18.4 37.4 2.7
E=J17 | 100.0 0.3 9.1 20.1 13.2 0.9 16.3 305 9.7
282717 | 100.0 5.7 225 13.1 - 234 27.3 8.0
7|Et | 100.0 - 2.9 9.5 16.1 - 36.5 30.9 4.1
65-69M| | 100.0 - 1.2 171 58 - 67.4 6.9 1.6
70-74M| | 100.0 - 4.0 255 13.5 0.4 37.5 159 3.1
75-79M| | 100.0 0.5 4.3 22.8 17.7 0.5 6.7 385 9.0
80-84AM | 100.0 - 12.9 10.5 18.2 0.3 1.4 457 11.0
85|
100.0 - 8.3 6.6 18.1 - 0.9 52.1 14.0
04
ZZ0|st | 100.0 - 6.6 17.0 13.8 0.3 21.1 344 6.7
2Z | 100.0 - 0.2 159 15.9 55.3 4.4 8.3
J=0[4 | 100.0 2.6 2.7 28.6 16.9 - 334 4.6 11.2




2 35|32} = Hu A O
17-1-1. Z2E(O022#) 0|8A FUHE FE2(F+3E)
(EH2l %)
BlsE ygo | A olo] =
Aol H2It g0l i0||51} ;thl :Jo| AZHS BU 4 7|E} olct
ZOtA SN | HRlEA ol 2otk | o T ool v
20| FOM | HOIA 201
2014 222 26.3 4.1 84.3 9.2 241 2.1 2.2
2017
gall 34.8 37.6 7.7 82.7 9.3 257 1.6 2.0
A9 A 447 452 29 83.7 15.6 332 2.4 26
A% B 254 303 12.4 81.9 33 18.7 0.9 1.4
A 357 452 1 68.4 1.3 28.1 0.8 5.2
O4R} 345 351 6.6 87.4 8.6 25.0 1.9 0.9
c=7h 37.5 36.2 9.8 85.9 8.7 23.0 2.8 1.8
2715 315 36.0 9.1 75.3 8.0 26.3 1.4 34
7|} 348 41.8 2.7 87.3 1.7 293 - 0.6
65-69A 330 30.0 1.8 70.5 7.4 327 0.9 36
70-74AM 27.8 37.6 6.7 76.0 11.6 293 1.2 3.7
75-79M| 355 443 8.2 81.0 79 27.5 1.5 1.0
80-84A 388 353 8.6 88.8 1.3 23.4 1.9 0.9
85M Of4 36.1 338 9.6 89.5 7.8 19.8 2.1 24
2Z0[5t 344 36.8 7.5 84.2 9.3 24.6 1.7 1.4
£ 390 509 15.6 59.0 1.7 37.7 - 8.6
LE0Y 447 45.0 - 67.9 - 554 - | 16.1
-1- 235|132 = 14 S [— N AOLC
17-1-2. ZEZ(0=2) o8 =WMUE FE(F5+3SB)
(2] %)
2o Ay 4 AM | o z) 7 f=7 235 23|
o 8= | =% 2z 2z 2z
2014 6.1 9.0 7.5 4.6 4.5 45 4.1 711
2017
gaflc 10.8 4.2 151 2.1 4.1 3.1 0.9 66.3
A A 6.1 2.2 5.6 3.8 5.4 3.5 1.0 80.0
A B 153 6.1 242 0.5 2.8 26 0.7 53.3
Ch 11.6 5.5 14.3 4.6 3.2 1.6 1.0 65.9
12} 10.5 3.8 15.4 1.3 4.4 3.5 0.8 66.4
e 10.5 5.0 14.5 0.9 3.8 3.8 1.7 65.2
FRI 12.3 42 16.4 3.7 5.1 3.2 05 63.7
7|E 9.3 3.1 14.6 1.7 3.2 1.7 - 71.5
65-69A 12.4 0.4 16.4 9.2 6.7 1.2 - 62.7
70-74M| 16.1 5.5 214 26 6.1 39 04 61.0
75-79M| 1.7 3.8 153 1.8 43 25 - 66.6
80-84A| 4.0 5.8 12.4 05 3.0 4.6 1.5 70.5
85M ol 1.5 3.6 12.0 0.8 2.1 2.2 2.1 67.5
2Z0|5t 10.5 44 15.8 1.7 4.0 3.3 0.7 66.0
EEd 17.4 2.2 54 10.1 4.7 - 2.4 66.4
1201 8.5 - 5.1 6.7 - 3.8 82.5




V.20178 &l
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18. 1A (FESH)

(€2l %)
R | FIETIC T , .
ezt | 21 | = MM | =M | 49 w 5
g | HRA| AE | 2R | BN | e ea| | ge
oA | x| =x =2 g | ex| o=z Azl g12)
IS okt
2014 | 100.0 6.4 | 249 0.1 42 .8 7.7 0.7 0.8 0.2 1.9 14.5
2017
o=t | 100.0 42 | 185 51.0 3.6 0.7 1.3 0.8 1.4 185
2% A | 1000 35193 51.4 54| 03 15 06 22| 158
2|2 B | 100.0 47 117.8 50.7 2.2 09 1.2 0.9 0.7 20.7
=2t [ 100.0 631|114 453 55 1.2 1.9 1.6 1.6 253
O{Zt | 100.0 281|227 54.4 2.5 0.3 1.0 03 1.3 145
=74 | 100.0 081|149 56.6 4.0 1.2 3.8 0.9 1.3 16.6
sootn | 1000 | 91| 146 493 44| 04 0.1 0.6 16| 199
7|E} | 100.0 2.2 | 268 469 2.4 0.3 1.0 1.3 191
65-694 | 100.0 3.3 1235 34.0 94 0.5 1.0 1.6 2.1 24.6
70-74M | 100.0 501 16.1 479 3.8 1.3 1.2 1.4 0.2 23.0
75-79M | 100.0 501215 525 2.8 0.2 1.0 0.3 0.8 159
80-84M| | 100.0 391|175 595 2.1 0.2 1.1 0.6 0.8 143
85M|0]4 | 100.0 3.1 141 58.2 1.1 1.1 2.4 03 35 16.1
ZZ0|5t | 100.0 381|194 53.3 3.2 0.7 1.2 0.8 1.3 16.4
=Z | 100.0 741148 30.7 8.2 - 2.7 1.1 2.6 324
N=E0|4H | 100.0 3.6 1.8 42 .6 41 2.3 - 2.3 433
A OLC
18(1).221712|(5F+SH)
(el -
%)
| B A | f
HiS2 PIE 2 2 2 2 p A9 9 023
I I A I N | ez | | oo
x| ex| e T ooz | ey 2= | (AU 2g)
IS okt
2014 99 39.0 04 60.4 19.5 14 25 0.6 2.8 145
2017
ol 6.8 289 - 63.5 13.8 1.6 5.6 1.8 2.4 18.5
29 A 5.1 27.8 - 68.7 19.9 1.5 7.3 1.6 2.8 159
2|9 B 8.1 29.8 - 593 8.9 1.7 4.3 1.9 2.1 20.7
At 9.7 21.3 - 55.3 15.4 1.8 5.1 29 3.2 253
O &t 5.0 33.5 - 68.4 12.8 15 59 1.1 2.0 14.5
CEIt 1.6 236 - 66.6 16.9 2.0 13.2 1.3 1.8 16.6
282917 15.1 23.2 - 61.9 13.2 1.0 1.7 1.6 2.3 19.9
7|Et 29 413 - 61.9 111 1.9 1.8 25 33 19.1
65-69A] 52 31.0 - 47 1 18.3 2.7 4.2 25 4.1 24 .6
70-74M 7.0 257 - 58.3 13.5 1.9 47 1.8 2.0 23.0
75-79A 89 30.6 - 67.4 12.4 0.7 47 1.2 1.8 159
80-84A| 7.3 315 - 73.2 14 .4 0.6 45 0.6 1.2 143
85AM|0| A 4.7 26.0 - 68.2 11.6 2.7 10.1 3.0 35 16.1
ZZE0|5} 6.4 31.1 - 68.0 13.6 1.4 6.3 1.8 1.8 15.3
== 85 26.1 - 541 16.0 2.1 2.3 1.9 2.0 240
ni=={eJpy; 7.9 16.5 - 422 13.0 26 4.4 1.2 7.2 35.6




19. Lol52]H2y

(S © %)

L9 0|Z|>E_| Lo EZlAHEl‘ _LI:OL| iOLI gliAlg _LI:OL|
g | O ETE | R SUCE | oplesiig | siakosen) 5 wR | BEMEAY et
sf | AE s o A o
2= MHB|A ZE8h gs
2017
ol 100.0 9.7 13.5 10.1 58.0 4.7 4.0
2| A 100.0 1.5 17.9 12.0 52.5 4.3 1.8
2| B 100.0 8.2 9.9 8.5 62.5 5.1 5.7
2} 100.0 10.6 16.4 1.3 494 6.0 6.3
o2} 100.0 9.1 11.8 9.4 63.2 3.9 2.6
Ch=7 100.0 9.1 1.7 9.2 62.8 4.1 3.1
S8+ 100.0 10.5 14.3 12.5 54.0 42 4.4
7|Ef 100.0 9.4 14.5 8.2 57.4 6.0 4.4
65-69A 100.0 19.5 15.2 16.7 355 6.0 7.0
70-74AM| 100.0 14.6 15.5 12.9 46.8 6.1 4.2
75-79M| 100.0 9.3 14.9 9.6 579 4.0 4.3
80-84A| 100.0 4.4 10.9 54 72.0 4.2 3.0
85[0 4 100.0 1.9 10.8 6.8 75.2 3.6 1.8
e 100.0 8.6 12.8 9.1 61.9 45 3.1
e 100.0 21.2 17.6 16.3 25.7 7.4 11.8
NEO0|4 100.0 5.8 23.1 215 39.5 2.3 7.7
20. # HEl
(9l : %)
=29 =X
| ww| |, an | ge | TEEN EEEN ooz | gy
IR g I T Il
SRR e | mean | ®
2014 100.0 43.0 100.0 1.1 4.1 5.1 1.6 65.1 23.1 57.0
2017
=l e 100.0 50.6 100.0 1.8 5.1 2.1 0.6 64.2 26.2 49 4
A9 A 100.0 52.0 100.0 2.3 6.9 2.1 0.5 60.6 27.6 48.0
A9 B 100.0 494 100.0 1.3 35 2.2 0.7 67.3 25.0 50.6
2} 100.0 59.1 100.0 2.2 3.7 1.8 1.4 87.5 3.4 40.9
o2} 100.0 454 100.0 1.4 6.2 2.4 - 46.0 44.0 54.6
=7t 100.0 39.1 100.0 0.7 10.7 5.5 1.0 80.7 1.4 60.9
S 4R 100.0 64.4 100.0 1.5 2.6 1.2 0.8 491 448 35.6
7|Ef 100.0 472 100.0 3.2 3.9 0.5 - 73.1 19.4 52.8
65-69A| 100.0 72.5 100.0 4.8 6.4 4.9 1.0 58.4 245 27.5
70-74M| 100.0 69.8 100.0 1.2 6.6 2.6 0.8 614 27.4 30.2
75-79A 100.0 53.1 100.0 1.3 2.8 0.9 - 67.1 28.0 46.9
80-84A| 100.0 42.2 100.0 - 4.7 - 0.8 69.5 25.0 57.8
85M Ol 100.0 16.3 100.0 - 3.6 - - 73.5 229 83.7
ZZ0|5} 100.0 49.6 100.0 0.8 4.9 2.2 0.3 62.5 29.2 504
s 100.0 59.1 100.0 5.7 7.2 2.1 1.2 75.3 8.5 40.9
12E0[4 100.0 544 100.0 15.8 3.1 - 7.6 73.5 - 45.6




V.201743 Yol SQIAEN AN 21t
21, 44
(2l %)
33UY, 2 &
St = of ol AQHO! | 2B8F O QA4 ' =
A SY0IY | EOH U ADHY | S Y SMHY e aww |
2014 100.0 81.2 3.9 3.7 3.8 7.3
2017
ol 100.0 85.2 2.0 3.0 4.1 5.6
29 A 100.0 82.2 2.3 2.4 57 7.4
= 100.0 87.8 1.7 3.5 2.8 4.2
R 100.0 84.4 2.7 2.2 3.0 7.7
o2t 100.0 859 1.5 3.6 5.1 4.0
ChEIt+ 100.0 823 1.8 2.1 8.2 5.6
S8t 100.0 87.4 2.8 2.5 2.7 4.6
7|E} 100.0 84.4 1.0 4.6 2.6 7.3
65-69A| 100.0 74.0 35 58 57 1M1
70-74M 100.0 83.3 2.2 4.3 4.6 5.6
75-79A 100.0 89.8 19 1.0 2.5 4.7
80-84A 100.0 943 0.4 - 3.8 1.5
85A[0] 4 100.0 93.8 - 2.5 3.6 -
ZZ0|5} 100.0 88.1 1.5 2.4 4.2 3.8
== 100.0 66.0 6.1 8.2 4.3 15.5
JIE0[4 100.0 68.3 2.4 2.9 3.1 233
22, Y
(B2 1 %)
A M| ATHOY sHogsH tef 7|Et
2014 100.0 59 80.3 8.4 54
2017
ol 100.0 6.1 84.8 5.1 4.0
A A 100.0 7.4 82.3 55 4.8
A9 B 100.0 5.0 86.8 4.8 34
=2t 100.0 7.9 84.2 53 2.6
o2t 100.0 4.7 85.2 5.0 5.2
CEIt 100.0 9.1 80.0 29 8.0
S22+ 100.0 5.0 87.0 6.4 1.6
7|Et 100.0 5.1 85.5 5.1 4.3
65-69AM| 100.0 8.1 74.5 8.9 8.5
70-74AM| 100.0 8.3 82.0 6.0 3.7
75-79AM 100.0 53 89.2 4.6 0.9
80-84AM| 100.0 1.4 93.9 - 4.7
85M Of4f 100.0 3.6 93.8 2.5 -
zZZ0|5t 100.0 4.0 88.5 3.2 43
== 100.0 57 83.1 7.2 4.0
I=Z0|A 100.0 18.3 64.8 14.2 2.7




23, =3t AL
el 1 %)
e & st At o 42| orch
2017
ol 100.0 48.7 51.3
g2t 100.0 57.0 43.0
012t 100.0 437 56.3
=7t 100.0 415 58.5
HEIH 100.0 56.3 437
7|t 100.0 47.8 52.2
65-694 100.0 81.1 18.9
70-74 100.0 67.5 325
75-79M| 100.0 49.0 51.0
80-84A| 100.0 353 64.7
85 0|4 100.0 14.2 85.8
2Z0|5} 100.0 46.4 53.6
s = 100.0 67.0 33.0
DE0I4 100.0 64.9 35.1
23-1. €F sl 42 Olf
(591 : %)
Ay | ASL | suE@EAE | ARE
g il B QA7 | AR sstrl | Bl 7|Et
N ORA317| 913 | TR3HA R i T _
Sl Sl Sl Sl
2017
gl 100.0 59.6 13.9 12.4 0.6 4.0 8.6 0.8
A A 100.0 62.1 13.1 13.5 1.2 3.7 5.8 0.7
A% B 100.0 575 14.6 11.6 0.1 43 11.0 0.9
g2t 100.0 62.1 8.6 15.2 0.5 4.9 8.2 0.4
42t 100.0 57.6 18.0 10.3 0.7 33 8.9 1.2
=7 100.0 57.0 16.8 8.9 0.9 3.1 11.6 1.7
FEH 100.0 62.9 121 12.7 0.9 3.2 8.2 -
7|Et 100.0 57.6 13.6 15.4 - 6.1 6.3 1.2
65-69A 100.0 62.7 13.8 11.0 - 5.1 6.2 1.2
70-74NM 100.0 61.7 1.2 121 0.6 36 10.0 0.8
75-79M 100.0 55.2 15.2 10.8 1.2 6.5 10.4 0.7
80-84A 100.0 58.6 19.6 12.4 1.1 04 6.8 11
85A Ol 100.0 543 7.7 28.2 - - 9.8 -
Z2Z0|5t 100.0 60.6 14.6 10.8 05 3.6 94 0.6
s =2 100.0 58.6 9.1 21.2 - 5.3 5.1 0.7
NEOIY 100.0 394 14.6 21.5 5.5 10.1 2.8 6.1




V20173 SoHE LOIAIENRAF Z I}
o = (=] o
23-2. 9= Si MA| %42 ol
THe| %)
AHZo| =2 S 4 Qe At g A .
3ty | v 2A=PE s 25| & FAl Z0[2tA 7|Et
OLOFA ZOkA
2017
] 100.0 72.9 14.8 6.1 6.2
29 A 100.0 76.5 10.0 6.5 7.0
2| B 100.0 70.1 18.6 5.8 55
=2t 100.0 69.4 11.2 13.2 6.1
O At 100.0 74.5 16.5 2.8 6.2
=t 100.0 70.4 14.6 6.7 8.2
28It 100.0 77.0 10.1 6.5 6.4
= 100.0 72.0 19.7 5.0 34
65-69A 100.0 47 .6 22.0 18.8 11.6
70-74M| 100.0 69.5 14.7 14.2 1.6
75-79M| 100.0 79.6 12.2 4.8 34
80-84A 100.0 80.8 11.5 3.8 3.9
85AM| 0|4+ 100.0 67.9 18.2 3.1 10.8
ZZ0|st 100.0 75.9 13.9 3.9 6.3
= Z 100.0 38.7 27.4 28.8 5.1
DE0|4 100.0 33.1 20.4 46.5 -
24, AYF 25
ool : %)
512 502 £ 50~1008F & 100~1508 & 150~2002+ & 200~300%2t & | 3008t &
= ojot ojgt o|gt o|gt 0|t ol4
2014 100.0 54.6 23.4 7.3 9.6 3.3 1.9
2017
ol 100.0 55.2 34.4 5.9 29 1.2 04
Y A 100.0 57.4 31.9 6.2 3.1 0.9 0.4
2| B 100.0 53.4 36.4 5.6 2.7 1.5 0.3
=2t 100.0 31.8 47 .8 10.9 6.3 2.2 1.0
O 2t 100.0 69.3 26.4 2.9 0.8 0.6 -
C=EIH 100.0 65.1 294 38 1.0 0.5 0.1
S2E2t7 100.0 43.3 419 83 34 2.1 09
7|E} 100.0 58.1 31.1 54 4.3 1.0 -
65-69A 100.0 24 .4 495 13.1 8.4 4.2 04
70-74M| 100.0 40.3 43.6 93 4.6 1.6 0.6
75-79M| 100.0 56.3 36.5 53 1.0 0.2 0.7
80-84AM| 100.0 705 25.2 2.5 1.2 0.6 -
85AM| Of4 100.0 80.6 18.4 0.3 0.4 0.3 -
ZZO0|o} 100.0 59.3 33.6 4.8 1.9 0.4 0.1
== 100.0 28.6 39.6 13.6 1.4 5.6 1.3
DNZEO0|A 100.0 12.0 43.2 15.8 6.3 15.7 7.0




25. MgHi|o| Z8 59
(H2l %)
a1 2Q10] 2AAZ | oA BES | IVI0IM BZE | AU O|RO| =28 J1et
I gs gs gs
2014 100.0 47.7 23.8 27.5 0.1 0.9
2017
= b 100.0 43.6 18.5 293 0.1 8.4
S A 100.0 40.6 17.9 33.9 0.1 7.5
A< B 100.0 46.1 19.1 25.7 0.1 9.1
ezt 100.0 56.1 1.7 28.1 0.3 3.8
o4t 100.0 36.2 226 30.1 - 1.1
CE7H 100.0 334 26.9 39.4 0.3 -
28717 100.0 53.4 12.8 245 - 9.3
7|Et 100.0 43.6 16.1 238 - 16.5
65-69A 100.0 69.7 2.8 19.7 0.4 7.4
70-74M| 100.0 62.5 11.5 19.2 - 6.7
75-79M 100.0 44.8 22.4 233 0.2 9.2
80-84 M| 100.0 31.1 22.8 37.0 - 9.1
85M| 0|4 100.0 12.3 30.2 483 - 9.2
ZE0|5t 100.0 42.0 19.6 30.1 - 8.4
Ex 100.0 56.9 10.8 22.0 0.7 9.6
E0|4 100.0 53.4 10.6 30.0 1.7 4.4
26. MY g
(&l -
- 508t £ | 50~1002 2 | 100~1502t & | 150~200%F ¢ 200~300%F & | 3009+ ¢
ojot ojot ojgt ot ojgt o4
2014 100.0 30.8 435 14.1 8.3 2.4 0.9
2017
=1 100.0 21.5 56.1 17.3 4.2 0.8 0.1
A A 100.0 8.8 55.3 26.2 8.2 1.4 -
A9 B 100.0 316 56.7 10.2 1.0 0.4 0.1
=2t 100.0 12.4 492 29.5 7.2 1.5 0.2
o4zt 100.0 26.9 60.2 10.0 2.4 04 -
e 100.0 29.0 59.4 9.9 1.3 0.4 -
28It 100.0 12.0 59.6 20.8 6.0 1.4 0.2
7|Et 100.0 24.1 48.4 21.5 5.3 0.7 -
65-69A 100.0 7.0 458 336 10.2 3.2 0.1
70-74M 100.0 12.3 55.3 24.2 7.2 0.9 -
75-79M 100.0 20.0 59.3 17.1 3.1 0.2 0.2
80-84 M| 100.0 28.2 62.9 8.4 0.5 - -
85M| 0|4 100.0 38.5 54.7 5.5 0.9 0.4 -
ZZ0|5t 100.0 23.4 58.1 15.0 3.1 04 -
=5 100.0 7.5 40.8 39.7 7.6 4.2 0.2
nEO0l4 100.0 3.6 418 20.8 27.4 46 1.8




= ok =315 HAOLC
27 QA ELHE (I EO| A St =)- 5438
(&2 : %)
@A
NF=F=1 =z A o2 Alugt _ HZRAH
TEE | A PR AT LS wzozu | as sum | oww owe | ST et
z2 oy chete] | 7HHEE| CES= RS
HlAHIZE
2017
iz 60.8 67.2 8.8 66.7 30.7 5.0 222 3.8
A9 A 72.9 64.6 1.2 65.9 16.3 2.6 27.4 2.8
- 51.0 69.3 6.8 67.4 42 .3 6.9 17.9 4.7
=2t 60.2 721 9.4 56.2 33.2 6.4 27.7 45
O 2} 61.1 64.2 8.4 73.1 29.2 4.2 18.8 3.4
=T 67.5 74.8 59 68.5 28.7 3.7 15.3 2.6
S22t 60.1 723 8.3 69.0 329 6.1 22.7 1.2
7|E} 541 52.9 12.5 62.2 304 5.1 291 8.2
65-69A| 62.2 70.7 12.8 46.0 31.7 9.3 35.2 6.9
70-74M| 62.8 71.8 9.9 57.7 34.0 8.1 24.7 39
75-79AM 61.0 67.6 59 72.0 30.7 3.5 22.0 3.0
80-84AM| 57.2 63.7 6.8 79.1 30.0 3.0 14.2 2.4
85A| of4t 60.6 62.3 9.8 74.9 27.0 1.9 16.8 3.6
ZZ0|5t 60.6 66.0 8.0 72.9 30.3 3.8 17.7 3.5
= 61.9 74.2 9.7 50.2 304 3.1 38.2 3.9
JIEO0[A 60.6 69.0 13.0 409 33.6 15.1 37.4 6.4
_ = ar == HAOCLC
27-1. QA EHECIHE EHOIA &S5 E S =)-5+SH
(T2 : %)
Algm =2 2 L o|=  Algt j‘_7\‘I|H|’ ?o'-’—%’kl't'l,
A I A o=y | nE, EAY | BY A2 B232 S| 7lE
=t Ll | 7t Y| -
H|AH|Z|Z
2017
iz 440 32.1 10.6 51.6 222 21.9 22.1 2.9
A9 A 451 18.9 10.3 51.7 11.9 20.5 26.0 3.8
A9 B 431 428 10.8 51.6 30.5 23.0 18.9 2.2
=2t 39.8 33.9 8.7 44 2 233 24.6 27.9 2.7
Ot 46.5 31.1 1.7 56.1 215 20.3 18.6 3.0
=T 51.0 36.3 8.5 51.2 18.7 199 17.7 2.6
S22t 411 350 11.2 53.9 24.8 232 225 2.6
7|E} 396 243 121 495 231 224 26.5 3.5
65-69A| 39.7 34.9 145 40.2 21.6 31.6 27.6 6.7
70-74M| 454 329 104 429 23.1 28.5 249 1.3
75-79AM 42 .3 337 8.7 54.4 221 20.4 22.4 2.6
80-84A| 42.7 314 8.0 62.0 21.3 19.3 18.9 34
85AM| of4t 494 28.0 124 56.9 22.7 10.8 17.2 1.1
ZZE0|st 46.8 31.0 10.0 55.1 219 20.6 18.5 2.4
Ex 1 37.0 40.0 12.7 38.2 214 20.3 37.6 3.6
IE0| 31.3 324 12.3 40.8 24.8 32.2 31.5 5.7




A= =
28. AHH & UZSE
( - %)
2 e o< e 2E 20t | HuF 0
2014 100.0 13.1 0.6 12.6 43.4 43.5 38.3 52
2017
ol 100.0 14.7 1.1 13.6 46.0 394 36.3 3.1
A A 100.0 8.1 0.1 8.0 395 52.3 46.6 5.7
A9 B 100.0 19.9 1.8 18.1 51.2 28.9 27.9 1.0
=y 100.0 19.1 1.1 18.0 447 36.2 33.2 3.0
O 2} 100.0 12.0 1.0 11.0 46.7 41.3 38.1 3.2
o= 100.0 12.4 1.1 1.3 483 39.2 352 4.1
2827t 100.0 15.1 1.5 13.6 43.9 41.0 37.8 3.2
7|Et 100.0 16.6 0.5 16.1 458 376 35.7 1.9
65-69M| 100.0 225 1.6 21.0 44.0 335 31.0 25
70-74M| 100.0 15.3 0.5 14.8 423 4255 399 26
75-79M| 100.0 14.4 1.1 13.3 45.0 40.6 374 32
80-84A| 100.0 109 0.7 10.2 445 44.6 41.3 3.2
85M| Of4&f 100.0 1.6 1.6 10.0 54.4 34.0 30.2 3.9
2Z0[5} 100.0 12.8 0.9 12.0 46.8 40.3 372 3.1
== 100.0 24.7 1.9 22.8 39.1 36.1 324 3.7
2E0]4 100.0 40.5 4.1 36.4 40.7 18.8 17.1 1.7
— =1L =
29, d=s5t= il el
: %)
5 5 f = 298¢
A & (22) 3t CET-AR=E=t=0 ) b e 7|E}
2017
a2 100.0 12.0 75.3 9.8 29
A A 100.0 11.0 76.9 8.2 3.9
A9 B 100.0 12.8 74.0 11.0 2.1
L 100.0 9.5 77.5 10.7 23
o2} 100.0 13.5 74.0 9.2 33
H=7t3 100.0 17.6 67.8 11.9 2.7
282717 100.0 10.3 76.4 9.4 3.9
7|E 100.0 7.8 823 7.8 2.1
65-69A 100.0 37 78.6 14.1 36
70-74AM 100.0 7.2 75.1 13.7 3.9
75-79M 100.0 9.1 78.9 9.7 22
80-84A 100.0 17.4 723 8.3 2.0
85A| Of Ak 100.0 223 714 32 3.1
Z2Z0[5} 100.0 12.9 74.8 9.5 29
e 100.0 4.6 80.5 12.1 2.8
aZ0l4 100.0 8.1 76.4 11.6 4.0
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